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Standard equation of a circle
f(,y) = (x —xc)* + (y — yc)* — R?
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Important Points (X V1)

Circle drawing algorithms take the advantage of 8 symmetry property of circle.

Every circle has 8 octants and the circle drawing algorithm generates all the points for one
octant.

The points for other 7 octants are generated by changing the sign towards X and Y coordinates.

To take the advantage of 8 symmetry property, the circle must be formed assuming that the
centre point coordinates is (0, 0).

If the centre coordinates are other than (0, 0), then we add the X and Y coordinate values with
each point of circle with the coordinate values generated by assuming (0, 0) as centre point.
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L Standard equation of a circle
T T fGy) = (x—xc)? + (y — yc)? — R?
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If p;, =0: Viex1 = Vi and pr-1=px + (2x;, + 3)
prk =>0: Yie+s1 = Vi — 1 and Prk<1=pr+ 2()(;( — _\"k) +5
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Two Cases —

Case-02
Pk>=10




L]

L]

Problem-02:

Given the center point coordinates (4, -4) and radius as 10, generate all the points to form

a circle.

Solution-

Given-

Centre Coordinates of Circle (Xa, Yo) = (4, -4)
Radius of Circle = 10
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What is a pixel in Computer Graphics. BY DINESH THAKUR.
HTTP://CS.UEF.FI/PAIKKA/REZAEI/KE _TESTDATA/3.HTM

Computer Graphics C Version. Hearn, Donald, and M. Pauline. Baker. Beijing: Tsinghua UP, 2004. Print.
Computer Graphics With OpenGL. 4™ Edition. Hearn, Baker, and Carithers.

https://www.youtube.com/watch?v=aG9VLRFa-2k

https://www.geeksforgeeks.org/mid-point-circle-drawing-algorithm/
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https://www.geeksforgeeks.org/mid-point-circle-drawing-algorithm/

